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Instructions

()

(iii)

(v)

)

All questions are compulsory.

WA i 1§ 8 o Afaerg Ivd wed ¥ 1| yd@® weR W1 3fF aTefea R
Question Nos. 1 to 8 are very short answer type questions. Each
question carries 1 mark.

¥ w9 | 12 % Y IAY I & | Tl WY W 3 3% yrafead ¥
(I F fuwan w=-dim 50 vi= &)

Question Nos. 9 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

¥ HHi% 13 W 18 T <Y I W & | vldw W § atiafi faeg ¥
TAF T W 4 3 3mifed § 1 (IW Y sAfupem wsz-wm 75 wee 1)
Question Nos. 13 to 18 are long answer type questions. Each question
has internal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)

T A 19 | 24 7% O 3907 71 § | v@dw o7 F aitaRe faweg 1)
TAF T W 6 3 afea &1 (IW Ft sifbman wez-dim 250 vz §)
Question Nos. 18 to 24 are long answer type questions. Each question
has internal choice. Each question carries 6 marks. (Maximum word-
limit of answer is 250 words)
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[2]
Hraid Iggifren F1 & 2
What is marginal utility?
fore arom ® T favg arn @ 2
In which market is the commodity differentiated?
neEdl aqd fRd wed # 2
What are called intermediate goods?
EEIART 79 3491 gt & 2
What is transfer income?
@ 31 1 I Sifera
Give an example of credit money.

frads I fa FdsF s I amar &2
Which bank is known as the bank of banks?

farasita agf & fou FF-w1 T2 ga@ IgF A € ?

Which budget is best suited for developing nations?

o el fed wed £ 2

What is a revenue deficit?

It ¥ g2 Q2 ) gfonfia wd ge gEtsn fafag)
Write the definition and equation of consumer budget set.
QI Yeq ! dt fadreand fefa |

Write three characteristics of Normal Price.

FH T IAE 9 Gh TG IAR 3 3R T Fifag (1 #7) |
Differentiate between Gross Domestic Product and Gross National

Product (any three).
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13]
N Aei A o A @ ¢ 2 s wifag ) [3]

Does public debt impose a burden” Fxplain.

WA § T 3 F) o A oY At wqm wfee ata @ ¥
fafrag (Y W) | [1+1+141=4)

What are the main difficulties while measuring national income in
India? Wnite (any four).
war
OR

WA ® T 3ma # i ¥ sravas qum A (FE W) |

Suggest some measures to improve national income of India
(any four).

I WVIET a5 1 Argan fefee (#8910 | (1+1+1+1=4)

Write the assumptions of production possibility curve (any four).

raar
OR

=afe v wafie sdwres § s fafeg (3¢ 91 |

Write the differences between Micro and Macro economics (any four).

TG ¥ AUR T R F GF TR a5 | [1+1+]+]=4]
Describe four types of market based on time.

Srerar

OR
g0t wfaafira arem it @ fadwand sy

Descnbe four characteristics of the full competitive market.
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(4]

wm@iﬁmmﬁmm(ﬁwr _
Write the differences between revenue expenditure and capital
expenditure (any four).

[1+1+1+]1=4]

kL
OR

TR F e +! faf@u
Write the components of budget.
wriforE X UE wikfew gE1 ¥ iR fafay (#1390 | [1+1+]1+1=4)
Write the differences between standard money and token money
(any four).

Hqar

OR

& =S qE1 WS ¥ v fafee (F W) |

Write the merits of a good money material (any four).

T ¥ g7 aal 9 fafae (F 70 | [1+1+1+1=4]
Write the main elements of budget (any fowr).

araar
OR
T ¥ ey fafay (i€ wr) |

Write the objectives of budget (any four).

frord &= gro 9ra frda & Afedl F =ren Fifag (F8 8) |
[1+1+1+1+1+1=6]
Explain the credit control practices by the Reserve Bank (any six).

Haar
OR

frod &% oifF 3o & 59 I & = ¥ #1al 5 sy Fifw
(F @) |
Explain the functions of the Reserve Bank of India as a Central Bank

(any six).
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[5]
fre gEmell & IR W 9Fcl 9 IR a9 W U IAE 71

o : (6]
| L TR (HAYA)

() V& T IR - 45,000

(i) ToaEe =3 -~ 7,000

(iif) AT - 12,000

(iv) frafa - 10,000

Find out Gross Domestic Product and Gross National Product on the
basis of the following information :

SL.No. Items Rs. (in Crore)
(i) Net national product - 45,000
(i) Depreciation expenditure  — 7,000
(iif) Import - 12,000
(iv) Export - 10,000
Haqr
OR

frafafem siiws) @ 3 fafu aur =1 fafu R0 wva T s 9@
Fifo | 98 Wt fag #ifse fe I fafvdl g o @ oo Free
%

. e T (FAYH )
(i) I I - 60,000
(i) TIEE - 800
(iii) o™ - 18,000
(iv) % ot fraw - 4,000
(v) wod - 45,000
(vi) Twa 9] faw - 16,800
(vii) = - 9,000
(viii) &= - 8,000
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[61]
nditure
Find out the Gross National Product by Income and Expe

Methods and prove that results are same by both the methods :

SI.No. Items Rs. (in Crore)
(/) Domestic consumption - 60,000
(if) Depreciation - 800
(iif) Profit - 18,000
(iv) Net investment from abroad - 4,000
(v) Wages - 45,000
(vi) Gross domestic investment - 16,800
(vii) Interest — 9,000
(viii) Rent - 8,000

vl wfrifiren & qea Fruio =t Freifea fagal & sfavfa e S : [242+42=6)

(37) g &t |in

(@) @ =

(7) g & °in 3 gfd & dgem

Explain the price determination in the perfect competition under the
following heads :

(a) Demand of goods

(b) Supply of goods

(c) Equilibrium of supply and demand of goods

ear
OR

“hﬂ“ﬁ“ﬁmﬁwmwmwmmpmm |

What is the effect of shift in demand on cquilibrium price? Explain
with diagram.

6]

NM-37A



7]
yr-22 TR gfwifre vt searfvmn o gen et [6]
Write the differences between Monopolistic competition and

Oligopoly.

aqar
OR

ot whtrifiven v arquf wferitfrren & st fafmro (@)1 [1H1e140804] 6

Write the distinction between Perfect competition and Imperfect

competition (any six),

wWA-23  °in & fm ¥ s fafen (3 B:) | ' [141+141+]+1=6]

Write exceptions of the rule of demand (any six).
Jraar
OR

win #t Fma e # aafad w3 AR Fnw 7 fafag (5 o)

Write down the factors affecting price elasticity of demand

(any six).

uyA-24 qmmﬂwﬁﬂﬁwwﬁmm#fmmt.aﬁmﬁﬁ
FHAFAN: T 47N TS I TUFT A M2 20 2
(i) = T % gt i fafag

(ii) - 3uiren 3fE AR TOYl e A 1 WEm A 2 A aw TE P
A F1 I a8 ?

(iii) UMD AR SR TPl 11 A 2 W a2, A w3 fea
A 1 39T T g & ?

(iv) @2 @ % vavrm @ & ? [14242+1=6)
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A consumer is willing to consume two goods. Both items are priced

at ¥4 and T 5 respectively. The income of the consumer is ¥ 20.
(i)  Write the equation of the budget line.

(#) If the consumer spends his entire income on item 1, how much

quantity can he consume?

(iii) If the consumer spends his entire income on item 2, how much

quantity can he consume?

(iv) What is the slope of the budget line?

erar
OR

I A%y 2 1 Fivd A ¢F T¢ F e 8, oy 7 1w wiwa § ol
I F 31F § F ufiads e 9, @ s Y ¥ w1 ofad amm ?

If the price of item 2 falls by one rupee, but there is no change in the

price of item 1 and the income of the consumer, then what will be the

change in the budget line?

----------

[6]
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